I A verandah 40m long. 15m wide 1s to be paved with
stones cach measunng 6¢m by Scm Find the number of

sloncs

Sol Leneth of verandah = 40m

Width of verandah = |5m

Arca of veranda =40 x 15
=600 sq. m
Arcaofonc stone =6 x5 Now
=30 sqgm

Torad cova

Number of stoncs
. area ol one stong

HIN)
30
Number of stones = 20 ules
2. How many tiles of 40cm? will be required to pave the
footpath Im wide carmed round the outside of a grassy

plot 28m by 18m?

Sol:  Tiles fixed round the out side of a plot therefore,
30m

18¥m 20m

External length=28 + 1 + 1
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i0m
External width = |18« | =~ |

20m

Area of plot with path =30 x 20
=60 sqg m

Theareaof plot =28 x |8
=3 sgm
Area of path = 600 - S04

=066sq m

Arcaof one ule= 30 sg m
410
b ot Jow B

Areaot Prh

Number of tiles= , ,
aFeaol onellie

0h

10

100 00

T (N 3 1 A
3¢

Number of tles= 23000

3. Find the area of a room 3 49m long and 2 87m wide. What
1s the cost ol carpeting the room if the rate of carpet 1s Rs

10 50 per m~”

]
wn
§

Sol Length of room

L}
tad
on

-1
3

Width of room

Arca of room

:-.
3
5
e
&.
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=549 x 387
=21.2463sq m
Cost of carpeting one square m= Rs. 10 50
Cost of carpeting 21 2463 sqm= 10 50 x 21 2461
= 22308615

Cost of carpeting = Rs. 223 Approx
4. The arca of a rectangular rice field 1s 2.5 hectares and 1ts
aides arc 1n the ratio 3 2. Find the perimeter of the field.

Arcaof field = 2.5 hectares
Arcaof field =25000sq m

length of filed = 3xm

Widthof field =2xm and
Area = 3y x Q¢
Area = 6 sq m

from (1) and (u)

6y = 25000
L 250HM)
Xt =
§]

x =4166 67 Taking square root

x= 6455
Length 3x = 193 65
Width 2x = 12910

Penimeter = 2(3x + 2x)=2(193.65 + 129 10)
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20322 75

=648 SOm

5 The arca of a square plavground 1s 4500 m° How long

will a man take to cross it duagonaily at the speed of thm
pcr hour?

= 4500 sgm

\,qﬂ }?l- m

L.cvicth of diagonal ot 3 square = m h';) = \j(i;ili‘?ﬂﬁ ) + (\,'-I‘wm )

By Pyvthagoras theorem 4500 + 4500

PRSES——

il .
= 3 HH )

miBl) =94 87 m
[imc spent to cross Yhm distane = 60min

Fime spentie cross Y000 km distance = 60 min

| . , x93 K7
I iem spent 1o cross 94 87m distance = x93 8/ n
Mhl

G4 R7
S0

| 8974 mun

]

I muin 54 sec

I
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6. The diagonal of a square 1s 14cm. Find 1its area.

C

Diagonal of square = 14cm
1dx14
2

—

14 x7

Arca ol a square =

=08 sq. cm
2nd method:
Supposc that side of a square = x cm
By Pythagoras theorem

*+ 2 =(14)
2¢ =14x 14

xz _ |4"‘4
2

=14 x7=09§

and ¥’ is arca of a squarc.

Thus, Arca ol square = 98 sq.cm
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A Find the area of ar tnangle whose sides are.
(1) 120cm, 150c¢m and 200¢m
(1) 50dm, 78dm and | 12dm

Sol. a=200 here
h=150
c=120
a+b+c
S = 3
200+ 1504120
S= 3
470
S= —
S=235

S-ua=235-200=135
S-b=235-150=8S

S-¢=235-120=115

Arcaof A 4= A=JS(S-a)S-b)S-c)

- J235x35x85x115

= J3x47x5xTxSx1Tx5x23

= Jﬁ“x-l?u?xsznl']xl}
= Sx5J4T =T x17x23
25,/128639

=25 x 358 .66

[}

- 8967 sq. cm  approx
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(n) a=112dm here
bh=T8 dm
¢=50dm
n+h+r.‘
T
112+ 78450
) 2
240
= _‘j“
§5=120

Arca (A) = 4= S(S-a)XS-bXS -c)

= V1200120 -112)(120- 78)(120- 50,

= J120x8x42x70

A= J3“5!3K337x2x3x7x5x2

{

i9

= V¥ xS X8 T x2?
=3xS x8x7Tx?

= 1680 sq. dm
8. The perimeter of a triangular

field is 540m and its sides
are in the rauo 25 -

17 12. Find the area of tnangle.
Hint:  Let the sides be 25x, 17x, 12x meters.

Then 25x + 17x + 12v = 540 = x=10
Sol:  Let sides are 25x, 17x, 12x

penimeter = 25v + | Tx + 12x
= 54x

penmeter = 540 m but
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then SH) - Sdy
v= 10
sides 25 10, 17x 10,12 x 10

= 250,170, 120 m

a+hb+c
)

-_—

230+ 1704120

L,

A

40
= —— 270
2

S-a=270-250=20
S-h=270-170=100

S-¢c=270-120=150

Arca(A) = A= SIS -a)S-b)S -c)

= J270%20% 100 %150

= J27x10x2x10x2x50x 3% 50
v

= 10" %27 % 50% x 3% 27

= 10x2x50% y3x27

1000 % 3x3x3Ix3

= 1000x3x3

= 9000 sq. meter
Find the arca of a parallelogram if its two adjacent sides
are | 2cm and 14cm and diagonal is 18cm.
Hints:
Let ABCD s @™ in which .

———r—
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Find arca of AABC .
Arcaof |™ =2 (Arcaof AABC)

[ A ACHB

D _C

\ e

Sol: Find area o

12¢m

A l4cm T

a=18¢cm
b= 14 cm

c=12cm
a+b+c
2
18+14+12

2

s- 4
S 2

S =22

S-a=22-18=4
S-b=22-14=8
S-¢c=22-12=10

Areaof AABC = A= [S(S-a)S-b)S -c)

= J22x4x8x10

= JIIx2x2x2x2x2%x2x2x5

= VI1x2P %2 %27 x2x 5
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= 2% 2x 24110

= Rm sq.cm ... (1)
Arcaol A ACD = Arcaof A ABC and

- 84110 sq. cm
Arca of ™ ABCD= (1) + (11)

- 8J110+84110

- (8+8)~./TI-(5

=16J110  sq cm

10. Find the arca of the following washers whose external and
interanl diameters are:
(1) 1S¢em and 13em (1) 1.2m and 0 9m
(1) 40mm and 33mm.

15

Sol: External diameter = < cm
| 13

Intermal diameter = —cm

2

Total area

I

;"_2
1)
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Irvcrnal arca o

f | {
x
Z )
(149 Y
Arca of warhors - x| -
4 ) 2
[( b 1y
’ _ o I
Z 2
22 ’2;"(: |’1'l
71 4 4 J
22(225-102
7 4 )
22( 572
, A
A4 wy om
) 2 f
Saol  Fxtermal diamcrer =f(m=-_m
2 Iy
(9 9
Intemal diamcter - W e e
2 i) =2
9
- - m
210

Total arca -~

]
—
—_—
L=
=
R
L)

Internal arca =« A7

o
2|
.
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Arca ol washers = 1 ] rl " ]
In 21

22’16

7lluu 411{)
22 '|44-3I]

400

L}

0495 sq. mm
Sol:

“ 40
Diameter of big half circle = —= = 20mm

31
Intemal diameter = 7"""
Total area = o~
- :(20)’
2
Intermal area = ar

1
~—
Y B
Hﬁ‘

Area of washers = 1’(30): -
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22T ]I‘l.'im]
= — | 400 -
7 4
2211600 - 1089
-7 4
(517 )
= = '_r
\ -
1 1=73
T2
=401.5 sq mm

1. Find the arca of the shaded region.

28

Diameter of big half circle = — =14

h

nt

I

_ 1=y -

Area of big half circle

=— 2(14)°

22 .
—x-——xk x4
Z 7

=308 sq m

Damicter of every small half circle= — =T
¥

3
t’ | I
) Total area of both = 37

/ 2
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| 7 "
S (T
2y 7
et
2 |x2" w27
Z A

=77 sq m

small circles =2 « 77

f

154 sq m

Arca of shaded region = 308 - 154

= 154 sq. m
12. Find the arca of an equilateral tnangle whose side 1s 8m
Sol a-=h=c=3m
a+hb+c 8+8+8 24
< B B —— R e B} 2
. 2 L.

S-u=12-8=-4
S-h=12-8=4

S-¢c=12-8=4

Il

Arcaof A = A= J.'s’n. S—anS=h)i~N-c¢)

\.512:;1,(4:4

_ \ﬁ; wdxdxdxd
= dx 4\."3_
=163 q m
13. The side of an cquilateral tnangle 1s 6¢cm. Find 1ts arca

a=b=c=06 here
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a+h+c 6+46+6 |8

D 2 2
S-a=9-6=13

S - =9

S-h=9-6=3
S-¢c-9-6=13
Arcaold A= JS(S—a)S-b)S-c)

- Jox3x3x3

- J3x3x3%3%3

- '3"3\/3"‘—:9\/5 sg. cm

4. Find the arca of the nght tnanglc with legs 12¢m and

35¢m.
LLength ol one side = 12 ecm

Length of 2nd side = 35 em
have = altitude

Arca ol nght angles = 5
35x]2
B
=35x6
=210 sq.cm
15. The basc of a rectangle 1s three times its altitude. The area

is 147¢m?. Find the dimensions of the rectangle.
Sol et altutude = x
L.ength of base = 3x cm
Arca = (x)(3x)

= Jx*
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Arca = |47 sq. cm but
32 =147 therefore
=Y
3
? =49

Jv' = V49 Taking squarc root
x =17
altitude =7 cm

Basc = 3r
N

— 3 X 7
Basc = 21 em
16. Find the basc of the parallelogram whose attitude 1s 18em
and whosc arca is 3m”.
l.ength of alutude = 18 cm

Arca = 3 sgm

Arca =3 x 100 x [0 sq.m
arvd
aiitude
Ax100x180
= 8,
5000
3
Length of basc = 1666.67 cm

17.  The arca of a parallclogram is 144cm?. Find the altitude if
the basc 1s 2m long.

Length ol base =
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Arca of a parallclogram= 144 sq. m

l.ength of base = 2 cm

rva

Length of altitude = 7
have

144

T

Length of altitude = 72 cm
18. Find the arca of the rectangle 2m long and |8cm wide.

Length of a rectangle = 2m
= 200 cm
Width= 18 ¢cm
Arca = Length x Width
=200 x I8
= 3600 sq.cm

19.  ‘The arca of an cquilateral triangle is 4J2cm’®  Find the

length of a side.

Sol: I side of an any cquilateral triangle arc "a" units then its

V3’

arca will be 3

.‘EL:.;JE

therefore 1

Ju' = Jax4 Taking squarc rool
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a =4c¢m
Volume ofacube =¥V=/x/x/
-’
Volume of a cuboid of length /, breadth b and height /1 is
Volume of cuboid = V=[x bx h
Volume of a cuboid of length /, breadth b and height /
Volume of cylinder = arh

w here "+ 1s radius of the basc and "/ 1s height.
Volume of cylinder = — #°h
3
where 'r' 1s radius ol basc and "4" 1s height.
.‘i
Volume of sphere= — @

3

where 'r' 1s radius of sphere.
Remember that:
- As lem = 10mm,
therefore, lem? =10x 10 x 10mm’
lem? = 1000mm?
2. Im? =100 x 100 x 100cm?

= 1000000 cm?

L] v
lm” =10"em

also Im? = 1000 x 1000 x 1000 mm?
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[ : <= 31
lm =10 ”””J

3. For measurement of volumes of hiquids. we use the terms

hters (N and milliliters (mf)

lem' = 1m!
1O00cm? = |/

and Im? = 1000000 cm? = 1000 /

Im? = 1k (1 kilohter)

Find the Volume of the Solids

1. A cubc of a side 4cm
Solb Acubcotaside = 4
. . \
Volume of cube = (/)
3
=(4)
= 64 cubic ¢m
. 3
2. A cube whosc total arca 1s 96cm~.
Total arca ol cube = 96

arcas of cubc = 6
l)f)
6

arca of | lacc

il

16 sq. cm

i

l.ength of edge
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